| dE/dx estimator 1 |

0.22F

0.2F
0.18F
0.16F
0.14
0.12

0.1]
0.08
0.06
0.04
0.02

o 10
—

Ra
I
=

=

Entries 20

— : Mean 2.52
SETIS SERFERECRPEE X EDRPEE-EEPEEPr SPEPPEL P Std Dev 1.089
............... Entries 17
: Mean 2.594
......... L]..... : Std Dev 1.078
B ETE [ FETTE I A A T Py A Entries 17
: Mean 2.594
..... te-----i---| Std Dev 1.078
A T T T B P

-ﬂ-l - -Il-.ﬁ- : .

.....................................................

OII

dE/dx, harm?2

| dE/dx estimator 2 |

0.25

0.2

0.15

0.1

0.05

T T T T T " Entries 20
ceeteeee b Mean 2572
: : : : : : Std Dev 1.031

: : : : : : Entries 17
DTESUURURE IR i IR L i Mean 2.672
. . . . . . Std Dev 1.035

Entries 17
Mean 2.672

............................................

Std Dev 1.035

Ratio
!—\
'_\
IIIII!IIII

=

..............................................

O

1 2 3 4 5 6 7 8 9 10
dE/dx, trunc40

—=— DQMstep3_TT_CKF
—o— DQMstep3_TT_default
= DQMstep3_TT_defaultNEWTepol10

0.24f
0.22f

0.2}
0.18F
0.16}

0.14H

0.12}

0.08 i
0.06H |
0.04f
0.02f

Rati

...........................................

CTTITeS

: | Mean 6.1
. | std Dev 3.673

i.| Entries 17
¢ | Mean 5.647

:-|Std Dev 3.725

| Entries 17
¢ [ Mean 5.647

:’|_std Dev 3.725

....................................

........................

....................................

....................................

........................

........................

10 20 30 40 50 60 70 80

dE/dx number of measurements

0.4
0.35
0.3
0.25
0.2
0.15f

M CTTaTeS 20
: : : : ¢ [ Mean 0.75
------ S CELLLLLEY CETLLELR SERRRRREES =1 (¢ [0} 0.8292

...... Entries 17
: : : : ' [ Mean 0.7647

. | std bev 0.8065

. | Entries 17

;| Mean 0.7647

i | Std Dev 0.8065

+Qf

Ratio

1.1

1

0.9F

O
OB

....................................................................

0

10 20 30 40 50 60 70 80

dE/dx number of measurements with saturation



	Contents
	Page 1


